

## 

Faculty : POST-GRADUATE STUDIES

Degree Course : M.B.A. (Agribusiness Management)

**Major Subject** : AGRI-BUSINESS MANAGEMENT

Minor Subject

Name of College : P.G. INSTITUTE OF AGRI - BUSINESS MANAGEMENT, JUNAGADH

**Full Name of Student** : DEVKARAN NAGAR P Nº 002483

Academic year : 2022-2023

Semester : FIRST Examination held in

: Mar.2023-Apr.2023

Registration No. : 2072122023

| Sr.<br>No. | THE PERSON NAMED AND PARTY. | Course<br>Number | Title of Courses  | Credit     | Grade<br>Points | Credit         |
|------------|-----------------------------|------------------|---|------------|-----------------|----------------|
| 1          | MAJOR                       | ABM-501          | PRINCIPLES OF MANAGEMENT AND ORGANISATIONAL BEHAVIOUR     | 3          | 7.83            | 23,49          |
| 2          | MAJOR                       | ABM-502          | MANAGERIAL ACCOUNTING AND CONTROL                         | 3          | 7.80            | 23,40          |
| 3          | MAJOR                       | ABM-503          | APPLIED AGRIBUSINESS ECONOMICS                            | 2          | * 6.70          | 13.40          |
| 4          | MAJOR                       | ABM-504          | HUMAN RESOURCE MANAGEMENT FOR AGRICULTURAL ORGANIZATIONS  | 2          | 6.83            | 13.66          |
| 5          | MAJOR                       | ABM-505          | PRODUCTION AND OPERATIONS MANAGEMENT                      | 2          | 6.55            | 13.10          |
| 6          | SUPPORTING                  | ABM-537          | OPERATIONS RESEARCH                                       | 2          | 6.30            | 12.60          |
| 7          | RESEARCH(T/P)               | ABM-539          | COMMUNICATION FOR MANAGEMENT AND AGRI<br>BUSINESS         | 3          | 6.95            | 20.85          |
| 8          | RESEARCH(T/P)               | ABM-541          | COMPUTER APPLICATIONS FOR AGRI BUSINESS                   | 3          | 6.15            | 18.45          |
| 9          | N-C COMPULSORY              | PGS-502          | TECHNICAL WRITING AND COMMUNICATIONS SKILLS               | FILL SPICE | S               |                |
| 10         | N-C COMPULSORY              | PGS-503          | INTELLECTUAL PROPERTY AND ITS MANAGEMENT IN AGRICULTURE @ | TURAL U    | S               | NAME OF STREET |
| ML         | MUNICIPAL UNINAGAT          | HAGRICH TURAL I  | MINEPSITY REACADE ACRES TERRAL LENGERS TOTAL              | 20 + 2     | GAUTE TOTAL     | 138.95         |
| Me         | edium of Instruction        | :ENGLISH         | JUNAGADH AGRICULTURAL UNIVERSITY JUNAGADH AGRICULTU       | RAL UNIVE  | G.P.A. :        | 6.95           |

Remarks: \*\* Repeated by Second Attempt.

Summary of Student's Performance

| Year    | Semester    | Credit<br>Hours        | Credit<br>Points | G.P.A.    | C.G.P.A. of |
|---------|-------------|------------------------|------------------|-----------|-------------|
| AGRIC   | FIRST       | 20 + 2                 | 138,95           | 6.95      | 6.95        |
| II      | PY JUNAGACI | AGRICULTU              | RAL UNIVERS      | DY JUNAC  | DH AGRICA   |
| 111     | V JUNIAGADI | AGRICU(3)              | RAL UNIVERS      | TY JUSTAC | DHAGRICI    |
| IV      | NAGACH ASI  | COUNTRAL<br>PERSON CAN | JENVERSITY 2     | MAGADE    | GRIEULTU    |
| V       | TYJENAGAO:  | AGRICULTI              | RAL DELVERS      | DY DOORS  | DITAGRICA   |
| SITY JU | Total:      | 20 + 2                 | 138.95           | NACIADE   | 6.95        |

NOTE:

Ab Absent Repeated Withdrawn S Satisfactory Incomplete US Unsatisfactory

@ Non-Credit Course

O.G.P.A. 8.00 and Above 7.00 to 7.99 6.50 to 6.99 6.00 to 6.49 Less than 6.00

CLASS First Class with Distinction

First Class Second Class Academic Probation

DATE: 22/03/2024



#### P Nº 002487

: Jul.2023-Aug.2023

: 2022-2023

: SECOND

: 2072122023

### 

Faculty

: POST-GRADUATE STUDIES

Degree Course

: M.B.A. (Agribusiness Management)

Major Subject

: AGRI-BUSINESS MANAGEMENT

Minor Subject Name of College

MAJOR

2 MAJOR

MAJOR

MINOR

SUPPORTING

SUPPORTING RESEARCH(T/P)

RESEARCH(T/P)

RESEARCH(T/P)

10 N-C COMPULSORY

11 N-C COMPULSORY

Sr.

No.

3

4 5

6

8

9

: P.G. INSTITUTE OF AGRI - BUSINESS MANAGEMENT, JUNAGADH

Full Name of Student

Course

Category

: DEVKARAN NAGAR

ABM-506

ABM-508 ABM-591

ABM-518

ABM-536

ABM-538

ABM-540

ABM-542

ABM-544

PGS-501

PGS-506

Course

Number

| Title of Courses   | Credit<br>Hours | Grade<br>Points | Credit |
|--|-----------------|-----------------|--------|
| AGRICULTURAL AND FOOD MARKETING MANAGEMENT               | 2               | 6,36            | 12.60  |
| AGRI SUPPLY CHAIN MANAGEMENT                             | 2               | 8.45            | 12.90  |
| MASTER'S SEMINAR   | 1               | *8.10           | 6.10   |
| FOOD RETAIL MANAGEMENT                                   | 2               | 8.20            | 18.40  |
| STRATEGIC MANAGEMENT FOR AGRI BUSINESS<br>ENTERPRISES    | 2               | 8.75            | 13.50  |
| FINANCIAL MANAGEMENT IN AGRI BUSINESS                    | 2               | 6.15            | 12.30  |
| RESEARCH METHODOLOGY FOR AGRI BUSINESS MANAGEMENT        | 3               | * 7.10          | 21,30  |
| PROJECT MANAGEMENT AND AGRI BUSINESS<br>ENTREPRENEURSHIP | 3               | 6.40            | 19.20  |
| AGRI BUSINESS LAWS AND ETHICS                            | 2               | 8.60            | 17.20  |
| BRARY AND INFORMATION SERVICES @                         | 1               | S               | -      |
| ADVERTISING AND BRAND MANAGEMENT @                       | 1               | S               | -      |
| VERSITY I MACADIL A PRODUCTION TOTAL:                    | 19+2            | -               | 131.50 |

Academic year

Examination held in

Registration No.

Semester

Medium of Instruction : ENGLISH

Remarks: \*\* Repeated by Second Attempt.

Summary of Student's Performance

| Year   | Semester         | Credit<br>Hours | Credit<br>Points    | G.P.A.  | C.G.P.A. or<br>O.G.P.A. |
|--------|------------------|-----------------|---------------------|---|-------------------------|
| TAY UN | FIRST            | 20 + 2          | 138.95              | 6.95  | 6.95                    |
|        | SECOND           | 19 + 2          | 131.50              | 6.92  | 6.93                    |
| 11     | ILIQUISIN/SISION |                 |                     | TOTAL DESIGNATION OF THE PARTY |                         |
| Ш      |                  |                 | Part and the second |   |                         |
| IV     | NACATH AN        | PUOLITIVRA      |                     | District And  | AGBRULLI                |
| ٧      |                  |                 | DEZAN INVES         | NEW PLUMA   |                         |
| SITY A | Total :          | 39 + 4          | 270.45              |   | 6.93                    |

NOTE:

Ab Absent
W Withdrawn
I Incomplete

Repeated Satisfactory

US Unsatisfactory

G.P.A.

6.92

@ Non-Credit Course

O.G.P.A 8.00 Above and 7.00 to 7.99 6.50 to 6.99 6.00 to 6.49 Less than 6.00

CLASS

First Class with Distinction First Class Second Class

Academic Probation

DATE: 22/03/2024

REGISTRAR



P Nº 002529

Faculty : POST-GRADUATE STUDIES

Degree Course ; M.B.A. (Agribusiness Management)

Major Subject : AGRI-BUSINESS MANAGEMENT

Minor Subject Name of College

: P.G. INSTITUTE OF AGRI - BUSINESS MANAGEMENT, JUNAGADH

Full Name of Student : DEVKARAN NAGAR

Academic year : 2023-2024

Semester : THIRD

Examination held in : Feb.2024-Feb.2024
Registration No. : 2072122023

Credit Grade Credit **Title of Courses** Course Sr. Course **Points** Hours **Points** Number Category No. 13.80 6,90 AGRICULTURAL AND FOOD MARKETING MANAGEMENT ABM-507 MAJOR 14.70 2 7.35 INTERNATIONAL TRADE FOR AGRICULTURAL ABM-509 MAJOR 2 PRODUCTS 23.64 3 7.88 ABM-511 RURAL MARKETING 3 MINOR 15.20 2 7.60 FARM POWER & MACHINERY MANAGEMENT ABM-517 MINOR 14.00 2 7.00 RISK MANAGEMENT IN AGRI BUSINESS ABM-524 5 MINOR 13.36 2 6.68 BUSINESS ANALYTICS FOR AGRICULTURE ABM-526 MINOR 6 14.40 2 7.20 ABM-543 AGRIBUSINESS ENVIRONMENT & POLICY RESEARCH(T/P) 4 S SUMMER INTERNSHIP / INDUSTRIAL ATTACHMENT (04 ABM-595 RESEARCH(T/P) TO 06 WEEKS) @ S 1 AGRICULTURAL RESEARCH, RESEARCH ETHICS AND N-C COMPULSORY PGS-505 RURAL DEVELOPMENT PROGRAMMES @ 15+5 109.10 Total: 7.27 G.P.A. : :ENGLISH Medium of Instruction

Remarks:

DATE: 22/03/2024

Summary of Student's Performance

| Year    | Semester    | Credit<br>Hours | Credit<br>Points | G.P.A.       | C.G.P.A. or<br>O.G.P.A. |
|---------|-------------|-----------------|------------------|--------------|-------------------------|
| T       | FIRST       | 20 + 2          | 138.95           | 6.95         | 6.95                    |
|         | SECOND      | 19 + 2          | 131.50           | 6.92         | 6.93                    |
| II      | THIRD       | 15 + 5          | 109.10           | 7.27         | 7.03                    |
|         | SAL UNIVERS | ITY JUNAGA      | MAGRICULT        | LEAK LININ   | A REITY JUN             |
| III     | AGRICUMO    | ALL MAYER       | TOPON DISTOR     | MADE VIII OF | TO MENT OF THE PARTY OF |
|         | MAN DE SUNT | JANGAGE A       | HICKET TURAL     | WIVERS       | TAMMAGAE                |
| IV      | CULTURAL    | MIVERSITY.      | UNAGADEI AS      |              | A LEMMAN                |
|         | VAL UNIVERS | AN HUNNER       | <b>建設等部域</b>     | BAL UNIN     | TESTEV JUN              |
| V       | AGREEMENT   | AL UNIVERS      | IN SUNDAGAL      | AGNISU       | L BIRAL GEN             |
|         | RINAGADHA   | SREW DIE        | THE WATER        | NIVE SES     | CHUNAVIA                |
| THE NOT | Total:      | 54 + 9          | 379.55           | -            | 7.03                    |

NOTE:

Ab Absent

/ Withdrawn

\* Repeated
S Satisfactory
US Unsatisfactory

@ Non-Credit Course

O.G.P.A.

8.00 and Above 7.00 to 7.99 6.50 to 6.99 6.00 to 6.49 Less than 6.00 CLASS

First Class with Distinction First Class Second Class Academic Probation

Fail

ASSECULTURAL DISTRIBUTE STLY DESIGNATION

REGISTRAR

Title of Courses

P Nº 003097

#### 

: POST-GRADUATE STUDIES

Degree Course : M.B.A.

Major Subject : AGRI-BUSINESS MANAGEMENT

Minor Subject

Course

1 RESEARCH(T/P)

Category

: P.G. INSTITUTE OF AGRII - BUSINESS MANAGEMENT, JUNAGADH

PROJECT WORK @

Course

Number

ABM-599

:ENGLISH

Full Name of Student : DEVKARAN NAGAR

Academic year Semester

: 2023-2024 : FOURTH

Examination held in : Mar.2024-Jul.2024 Registration No.

: 2072122023

| Credit<br>Hours | Grade<br>Points | Points |
|-----------------|-----------------|--------|
| 10              | S               | -      |

Total: G.P.A.

Medium of Instruction Remarks:

| Year | Semester | Credit<br>Hours | Credit<br>Points | G.P.A. | O.G.P.A. |
|------|----------|-----------------|------------------|--------|----------|
| 1    | FIRST    | 20 + 2          | 138.95           | 6.95   | 6.95     |
| -    | SECOND   | 19+2            | 131,50           | 6.92   | 6.93     |
| -11  | THIRD    | 15+5            | 109.10           | 7.27   | 7.03     |
|      | FOURTH   | 0 + 10          | 177              | -      | 7.03     |
| 111  |          |                 |                  |        |          |
| IV   |          |                 |                  |        |          |
| ٧    |          |                 |                  |        |          |
|      | Total:   | 54 + 19         | 379.55           |        | 7.03     |

DATE: 22/11/2024

NOTE:

Ab Absent W Withdrawn 1 Incomplete

\* Repeated S Satisfactory US Unsatisfactory

@ Non-Credit Course

O.G.P.A. 7.00 to 7.99 First Class to 6.99 Second Class 6.50 6.00 to 6.49 Academic Probation Less than 6.00 Fail

CLASS 8.00 and Above First Class with Distinction

REGISTRAR